Chapter 11:  Aggregate demand (AD) & Aggregate supply (AS)

This chapter allows the analysis of price level and real GDP changes, unlike chapter 9 & 10 which focused on the changes in real GDP by changing aggregate expenditures and keeping price level fixed.

In this AD/AS model, the shapes of AD and supply and factors that changes them are mentioned.

AD curve is a curve that shows the amount of real output or GDP that various sectors of the economy and foreign buyers are buying at various price levels.

So the curve shows an inverse relationship between the price level and the real GDP. 

Why is that? Because of:

a) Wealth effect or real balance effect:  that is when price level rises, it will reduce the purchasing power of the money which will lead less spending. For Example, a $100 may worth $80 or less after price increase and the buyer will feel poorer and purchase less. So as price level rises, the amount of real GDP purchased will decline. 

b) Interest rate effect: As price level increases, the purchasing power of the money declines and therefore, the demand for money will increase in order to meet the public’s need to buy what they got used to. As the demand for money increases assuming money supply is fixed, the interest rate will increase, therefore, household consumers and business sector will be unable to borrow more money to spend. As a result, the amount of real output purchased will decline.

c) Foreign trade effect: As US domestic price level increases, foreign buyers will  buy less from US products leading US exports to decline, and imports will increase. As a result, the amount of real GDP purchased declines.

Factors (or determinants) that changes Aggregate Demand schedule.

1- Changes in consumer spending, which are the changes in consumer wealth, consumer expectations and taxes.

2- Changes in investment spending: expectation business profitability, the rate of return, business taxes, technology and the amount of unused capacity.

3- Changes in net export spending which is not related to the price level changes. That is foreign income and expectation about their economic conditions and exchange rates.

4- Changes in interest rates that are not related to the price level changes.   For example, when the monetary authority changes interest rate through changes in money supply changes, then Aggregate demand schedule changes.

5- Changes in government aggregate demand management policy. That is a change in government spending and/or tax revenues

The derivation of Aggregate demand curve from the output-expenditure model is important. As the price level rises, Aggregate expenditure (AE) schedule shifts downward causing a decline in equilibrium real GDP and vice-versa.

Also be comfortable with the notion that aggregate demand schedule changes as Aggregate expenditure schedule changes without price changes.

Aggregate supply curve is a curve that shows the amount of real output or GDP that is for sale at various prices.

In this case, Aggregate supply (AS) curve can be divided into 3 ranges.

a- Horizontal range: This portion of AS curve is horizontal and the price level is fixed. It is called Keynisian short run AS curve.  In this range, the economy is at equilibrium, which is below the full employment output level (a case of recession). There are idle resources so as firms increase production costs per unit will increase. Therefore, there is no need to charge higher prices for their output.

The AS is flat because firms respond to changes in demand mainly by modifying production, instead of changing the prices of their products.

b- Intermediate range (upward sloping): In this case the expansion of real output will be followed by increases in the price level. The economy is operating at a level less than full-employment output level but it is close to it. So as output increases, the production cost per unit will increase (wages, and raw material costs). Therefore, firms will increase prices to cover the cost increase in order to make profit.

c- The vertical range: In this range, resources (labor, capital) are at their full-employment level of output. In the long run, wages and some other resource costs will increase and therefore production costs per unit will increase. As a result, firms will charge higher prices for their product to make a profit and therefore, the price level will increase. However, the increase in aggregate demand will not bring an increase in output because resources are fully employed.

Factors that shifts Aggregate supply curve

1- Changes in input prices: availability of resources such as land, labor, capital and so on, and prices of imported resources

2- Changes in productivity can cause changes in production cost per unit.  Productivity = real output/ inputs, and production cost per unit = total input costs/ output). For example, if productivity rises by 3% and wages rise by 6%, the AS curve will shift up because wages are rising more than productivity. You can say that a percentage change in the price level = the percentage change in wages minus percentage change in productivity.

3-  Changes in legal institutions such as business taxes, subsidies, and government regulations

The intersection of aggregate demand and aggregate supply will determine equilibrium output and the price level. However, the shifting of aggregate demand will change equilibrium output in the first two ranges, the horizontal range (price is unaffected) and the intermediate range (both price and output change).

The multiplier and the price level changes

In the horizontal range, the multiplier will have a full effect on equilibrium output in the case of a shift in AD schedule. In the vertical range, the multiplier effect is zero, and in the intermediate range the multiplier will have a partial effect on the equilibrium output because the portion of the AD increase is absorbed as an inflation when price level increases. 

